
AA2 wk 14 block   SPECIAL RIGHT TRIANGLES        NAME__________ 
 

 

 

 

 

 

 

 

 

 

In a 30‐60‐90:             In a 45‐45‐90:  

Short leg x √3 = Long leg        Leg x √2 = Hypotenuse 

Short leg x 2= Hypotenuse 
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30 – 60 ‐ 90 Triangles  45 – 45 ‐ 90 Triangles 

30 

45 

1.    How do you get the short leg if 

you have the long leg? 

_______________________________

_______________________________ 

2.  How do you get the short leg if you 

have the hypotenuse? 

_______________________________

_______________________________ 

3.  How do you get the leg if you have 

the hypotenuse? 

_______________________________

_______________________________ 

DIRECTIONS: FIND ALL MISSING SIDES.
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DIRECTIONS: FIND ALL MISSING SIDES.
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